Sample Paper 15
Class- X Exam - 2022-23

Mathematics - Basic

Time Allowed: 3 Hours Maximum Marks : 80
General Instructions :

1.

S ot W

This Question Paper has 5 Sections A-E.

Section A has 20 MCQs carrying 1 mark each

Section B has 5 questions carrying 02 marks each.

Section C has 6 questions carrying 03 marks each.

Section D has 4 questions carrying 05 marks each.

Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the values of 1, 1
and 2 marks each respectively.

All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2 Questions
of 2 marks has been provided. An internal choice has been provided in the 2marks questions of Section E

Draw neat figures wherever required. Take © = % wherever required if not stated.

SECTION - A 20 marks
{Section - A consists of 20 questions of 1 mark each)

1. The HCF of 40 and 54 is: (@) 242 -4 (b) 342 +2

(@) 2 (b) 3 .

(c) 4 (5 1 (c) 242 (d) 7v2-2 1
2. The value of k for which the polynomial 7. The 10™ term of the AP: 2, 7, 12, ...

2kx” - 3kx + 7 has real roots is: ig

(a) 35 (b) 34 (a) 47 (b) 36

(c) 19 (d) None of these 1 (c) 45 (d) 30 1
3. 2":: th3e vil;e ;fth'x‘ ‘:: the equﬂ;inn 8. The sum of the first 10 multiples of 2 is:

+ 3y =13 is 2, then the corresponding

value of y is: (a) 110 (b) 210

(@) 1 ) 2 (c) 150 (d) 140 1

(c) 4 d3 1 9. A quadratic polynomial whose zeros are

2 and -5 is:

4. The ratio in which x-axis divides the join 2 2
of points (2, - 3) and (5, 6) internally is: (@) x* + 10x - 3 (b) x* + 3x - 10
(@2:1 (b)1:3 (c) x* - 3x - 10 dx*+5x+4 1

(e)1:2 d1:4 1 10. The sum of the digits of a 2-digit number
is 10. A number is selected at random.

5. The ratio of the height of a tower and
The probability of the chosen number to

the length of its shadow is v3:1. The be divisible by 3 is:

angle of glevation of the Sun is: (a) 1 (b) 3

() 60° (b) 30° (c) 4 (@0 1
() 45° (d) 90° 1

11. The median of the given data is:
2 a 2
Gc The value ﬂf sec” 60° cos 45° - cosec zr 4| E‘r 12' 3| 5- 1ul E’r 2| 4r B, 2| 10
30° tan 45° is:



12.

13.

14.

15.

17.

21.

22.

(a) 4
(@5

In a single throw of an unbiased die

with & faces, what is the probability of
getting a prime number ?

(b) 9
(d) 10 1

1 1
a — —
(a) 2 (b) 3

2 1
c) — = 1 18.
© 3 )
If 6 is the angle (in degrees) of a sector
of a circle of radius 'F, then what is the
area of the sector ?

2 =}
a nr 2mr
@ 360~ ®) 360"
© 360° 2 (d) 360° w1
=} =}
A cylindrical pencil sharpened at one
edge is the combination of which two
solid figures 7
(a) Sphere and cone
(b) Cone and triangle
(c) Cuboid and cone
(d) Culinder and cone 1
If one zero of Ply) = 4y® - 8ky - 9 is
negative of other, then the value of 'k’ is: 19
(@)1 (b) 4
()0 (d) 7 1
AT is a tangent to circle with centres
such that OT = 4 cm and Z0TA = 30°
The length of AT is:
SECTION - B

4 cm

- ﬁ-.. T
(@) 2 em (b) V3 cm
(c) 4\..'5 cm (d) E\E em 1

If AABC ~ APQR, perimeter of AABC = 32
cm, perimeter of APQR = 48 cm and PR
= 6 cm, then the length of AC is:

(a) 3 cm (b) 6 cm

(c) 5 em (d) 4 em 1

Direction for questions 19 & 20: In
the question number 19 and 20, a
statement of Assertion (A) is followed
by a statement of Reason (R).

Choose the correct option:

(o) Both assertion (A) and reason (R)
are true and reason (R) is the correct
explanation of Assertion (A)

(b) Both assertion (A) and reason (R)
are true But reason (R) is not the
correct explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is
false.

(d) Assertion (A) is false but reason (R)
is true.

Assertion (A): The polynomial 2x* +
14x + 20 have two zeroes.

Reason (R): A quadratic polynomial

subtend equal angles at

the centre.

Reason (R): A parallelogram
circumscribing a circle is
a rhombus. 1

10 marks

{Section - B consists of 5 questions of 2 mark each,)

If HCF (150, 210) = 30, then find LCM
(150, 210). 2

Find the value of x for which 2x, (x + 10)
and (3x + 2) are three consecutive terms
of an A.P.

OR

23.

If the first term of on A.P. is P and its
common difference is g. then find its 6

term. 2

Find a relationship between x
and y such that the point (x, y)
is equidistant from the points
(3, 6) and (-3, 4). 2



24.

25.

26.

27.

32.

33.

The shadow of a 5 m long stick is 2 m A bag contains 3 red and 5 blue balls. A

long. At the same time, find the length ball is drawn at random from the bag.
of the shadow of a 12.5 m high tree. 2 ':I'*"hﬂt is the probability that the ball
rawn is:
The area of a circle is 154 sq. cm. Find its
circumference. (A) red?
OR (B) yellow? 2
SECTION - C 18 marks
{Section - C consists of 6 guestions of 3 mark each.,)
Find the greatest 4-digit number which OR
is divisible by 15, 24 and 36. Determine the A.P. whose 3™ term is 5
OR and the 7 term is 9. 3
Solve for x and y: 29. A quadrilateral ABCD circumscribe a
3x+2y=11, 2x+3y=4 3 circle. Prove that AB + CD = BC + DA. 3
Find the coordinates of the points of .
trisection of the line segment joining the 30. A uutnmnblfe Irus wheels that are
points (2, -2) and (-7, 4). 3 each 80 cm in diameter. When the car
is moving at a speed of 66 km/h, how
In the figure, DEFG is a square and ~“BAC many complete rotations do each wheel
= 90°. Prove that complete in 10 minutes? 3
o 31. A girl of height 90 cm is standing near
. 3 a lamp-post. Now, she starts walking
/ away from the base of a lamp post at
L ul a speed of 1.2 mfs.. If the lamp is 3.6
° o - ¢ m above the ground, then what is the
(A) AAGF ~ ADBG " 5
(B) AAGF ~ AEFC length of her shadow after 4 s:zn:mm:ls.3
(C) ADBG ~ AEFC

SECTION - D 20 marks

(Section - D consists of 4 questions of 5 mark each)

Solve for x:
1 1 11
—— =, -4,7
x+4 x-7 30 ik
OR
Using quadratic formula, solve for x:
3x2 + 2V5x -5=0. 5

Izmir Clock Tower is a historic clock
tower in Konak Square in the center
of lzmir, Turkey. The French architect
Raymond Charles Pere designed the
Izmir Clock Tower.

Let us assume that the height of the
tower AB = 14 m, height of tree CD =

Find the value of sin a and tan b.
OR

The angle of elevation of the top of a
tower from a point on the ground, which
R G e is 30 m away from the foot of the tower

s vertical ZABC = 90°. Further. let us is 30° Find the height of the tower. 5

denote ~CBD by ‘a’ and ZBAD by ‘b’ 34. Asshowninthefigure,two hemispheres
of a solid metal ball are divided in half



35.

36.

and joined. The solid is positioned in
a water-filled, cylindrical tub such
that it is completely submerged. The
cylindrical tub has a radius of 4 em
and a height of 11 cm, respectiveluy.
Additionally, a spherical ball has a 3
cm radius. Calculate how much water

is left in the cylindrical tub.

5
Find the mean, median and mode of the following frequency distribution:
Class 0-50 50-100 | 100-150 150-200 200-250 250-300 300-350
Frequency 2 3 5 5 3 1 5
SECTION - E 12 marks
(Case Study Based Questions)

(Section - E consists of 3 questions. All are compulsory.)

Due to engoing COVID-19 crises, Surbhi
Medical store has started stocking up and
sell masks of decent quality as sourced from
a disposable medical device manufacturer.
The owner of Surbhi Medical store is selling
two types of masks currently - A and B
The cost of one type A mask is T 10 and
of one type B mask is T 12. In the month
of April, 2020, the store sold 100 masks
for total sales of ¥ 1082,

Due to great demand and short supply, the
store hasincreasedthe price of eachtype by
¥ 1 from May 1, 2020 . In the month of
May, 2020, the store sold 250 masks for
total sales of T 2920.

T

On the basis of the above information,
answer the following questions:

(A) How many masks of each type were
sold in the month of April?

OR
How many masks of each type were
sold in the month of May? 2

(B) If the store had sold 125 masks of
each type, what would be its sale in
month of May? 1

(C) What percent of masks of each type
sale was increased in the month of
May, compared with the sale of
month April? 1

37. A game at a stall in Diwali fare involves

using a spinner first as a pre-cursor to
complete the game with certain rules. If
the spinner stops at a particular number,
then the player is allowed to roll a 6-
faced unbiased die.

15 1

Rules:

(1) If the spinner stops at a particular
number, then the player is allowed to
roll a 6- faced unbiased dice.



(2) If the spinner stops at any other
number, you get to try again and only
two tries allowed maximum.

(3) If you reach the next stage and roll a
dice, the shopkeeper will open a chit
to disclose the number if it matches,
the player gets a prize.

On the basis of the above information,

answer the following questions:

(A) What is the probability of getting
an odd number on the spinner? 1

(B) If getting an even number on the
spinner allows a player to roll the

die, then find the probability of his
rolling the die. 1

(C) If the player is allowed to roll the
die and getting a prime number
entitles him to get prize, then find
the probability of his winning the
prize and if getting a square number
on the spinner allows a player to
roll the die, then find the probability
of his rolling the die.

OR
If the player is allowed to roll the die
and getting a number greater than
5 entitles him to get prize, then find
the probability of his winning the
prize. 2

Radio towers are typically tall structures

designed to support antennas for tele-
communications  and  broadcasting,
including television. There are 2 main types:
guyed and self-supporting structures.

They are among the tallest human-
made structures. Masts are often named
after the broadcasting organizations that
originally built them or currently use them.

On a similar concept, a radio - station
tower was built in two sections A and B.
From a point 24 m from the base of the
tower, the angle of elevation of the top of
section A is 30°and the angle of elevation
of the top of section B is 45°

B

—

X

>

30°(45"
C<€ 24m > 0

On the basis of the above information,

answer the following questions:

(A) Find the height of the section A. 1

(B) Find the height of the section B. 1

(C) Find the length of the wire structure
from the point O to the top of
section A,

OR
Find the length of the wire structure

from the point O to the top of
section B. 2



SOLUTION

SECTION - A
1. @2 Bk -3 _
Explanation: The prime foctorisations of 40 k+1
and 54 are: = Bk-3=0
40=2x2x2x50r23 x5! 1
= k= =
C4=2x3x3=x3 0or2lx33 2

So, HCF (40, 54) = 2%, ie. 2.

2. (d) None of these
Explanation: For real roots,
Discriminant = 0
= b*-4ac=0
Here, a=2k b=-3kandc=7.
(-3K2-4=2%k=720

= 9%’ -56k=0

= k9k-568)=z0

= Ir:r_!-lIIJu:rrifzE
g

Butk=0

= k}ﬂorka%

& Caution

= While finding the discriminant of quadratic equation,
always compare the egquation with standard
equation.

3. (@3

Explanation: Futting the value of x in the
equation 2x + 3y = 13, we have

2(2) + 3y=13
= 4 +3y=13
= 3y=13-4=9
= y=3

4, (c1:2
Explanation: Let P (x, 0) be a point on x-axis
which divides A (2, — 3) and B (5, 6) in the
ratio k: 1.
Then, by section formula

Sk+2 6k —3
= reo=(3R )

= Requiredrntia=k:1=%:1=1:1

5. (a) 60°
Explanation: Let the angle of elevation be 6.

Then, tanf = %

AB
C
Tower
s
AT Shadow B
= tan B = ﬁ
1
= 6 = 60°
So, the angle of elevation of the sun is 60"
6. (0 224
Explanation: sec’ 60° cos45° — cosec” 30°
tan 45°
= (27 « %—(Ejle
2

& Caution

= [eam the table of trigonometric ratios for specific
angles properly for solving such types of questions.

7. (a) 47
Explanation: Here, a=2,d=5
So, Qp=a+ 9d

=2+ 45=47



8. (@) 110
Explanation: First 10 multiple of 2 are
2,4,6,8, . 20
Thisis an AP. witha=2and d = 2.

So, meirsum=%[2u2+9uﬂ]=1lﬂ

9. (b) x° +3x- 10

Explanation: A guardratic polunomial with
sum and product of zeroes as S and P,
respectively is given as,

x*-Sx+P
.. Required polynomial is
x* + 3x - 10.
[~ sum of zeroes = -3 and product of zeroes
=-10]
10. @0

Explanation: 2-digit numbers, where the
sum of the digits is 10, are 19, 28, 37, 46,
55, 64, 73,82 and 91.

Of these nine numbers, no number is divisible
by 3.

So, the required probability = g ie 0.

11. © 5

Explanation: Rearranging the given data in
ascending order, we have,

2,2,2,3,4,45,6,8,9,10,10, 12

Here, number of terms (n) = 13

1 th

n+

Median = {T] term
=7 term = 5.

12. () %

Explanation: Out of the six numbers 1, 2, 3,
4, 5, 6, three are prime numbers, namely 2,
3 and 5.

So, P (a prime number) = ie.

o W
=l e

b 3

13. (@ Se0° ™

Explanation: Area of sector with angle @
X Hf:z.

and radius r is

3B0°

14. (d) Cylinder and Cone
Explanation:

( >

So, it a combination of cylinder and a cone.

e

15. ¢/ 0
Explanation: Since one zero is the negative
of the other zero, so the sum of two zerces

is 0.
= %:U = k=0
16. (o) 10

Explanation: A pair of system of equations
is inconsistent, it

ﬂ:i
a b ¢

Here,a1=5 bi=skc1 =7,

MNow,

and, a; =1, ba=2,¢c3=-13.

5 &k 7
= - =E— -
1 2 3

=

& Caution

= While comparing the given equation with standard
equation, always consider the signs of constant

17. (@ 243 em
Explanation: Join OA,

Then £OAT = 90°
(Since, OA L AT)

Mow, cos 30° = AT
oT
V3 _ AT
2 4
- AT = 23 em
18. (d) 4 em
Explanation:
- AABC - APQR (Given)

P(AABC) AB _ BC _ AC
P(APOR) = PQ QR PR

32  AC
= — = —
48 6
= AC=32KE=4cm

48



& Caution
= While finding the length of any figure, always check
for both the condition of similarity, do not evuluate
on the basis of one condition only.
19. (c) Assertion (A) is true but reason (R) is false.
Explanation: Here,
2¢% + 14x + 20=0
= ¥+ 7x+10=0

= ¥ +5x+2x-10=0

= x+5)x+2)=0
= x=-5-2

20. (b) Both assertion (A) and reason (R) are true
but reason (K} is not the correct
explanation of assertion (4)

Explanation: From an external point the two
tangents drawn subtend equal angles at the
centre. So A is true. Also, a parallelogram
circumseribing a circle is a rhombus.

SECTION - B
21. We know that or x+y-5=0
150 = 210 which is the required relationship between
LCM (150, 210) = Ber50, 210) x and y.
_150x210 . /\ Caution
- 30 - - [f distancebetween two lines are equal, then the

& Caution

= The relation between LCAM and HCF far two numbers
is not similar for three numbers.

22. Since, 2x, (x + 10) and (3x + 2) are three
consecutive terms of AP

(x+ 10) = 2¢ = (3x + 2) — (x + 10)

= 10-x=2x-8

= 3x =18

= x=6
OR

Let a be the first terrm and d be the commaon
difference of the AP

Then, a=pandd=qg

: 6" term = a + 5d
=p+5g

23, Let P(x. y), A (3, 6) and B (-3, 4).
As P is equidistant from A and B,
So PA = PB or PA? = PB?
ie (x-32+(y-62=(x+3)2+ Y- 4>
= (x*-6x+9) +(y’ - 12y + 36)

=(x’+6x+9)+ ' -8y+16)

= 12x + 4y - 20 =0,

square of these distances are also equal

24. Let the length of a shadow of 12.5 m high
tree x m

Mow, ratio of lengths of objects = Ratio of
lengths of their shadows

= _2

125 x

wo 2x125 25 _ o
5 5

25. Let v’ cm be the radius of the circle.

Then, =r?=154
= r= 15;;? =49 = r=7em

So, Circurnference

=dnr=2 = 2?_2 = 7 =44 em.

OR
Totalballs=3+5=8

(A) P (red ball) =

00| L

(B) P (uellow ball) = g ie. 0. (As there is

no yellow ball in the bag.)

SECTION - C

26. LCM (15, 24, 36) is the smallest number
which is divisible by 15, 24, 36.

Also, every multple of the LCM (15, 24, 36)
is also divisible by 15, 24 and 36.

Mow,

15=3=x5
24=23x3
36 = 2¢ x 32

LCM (15, 24, 36) = 2% x 32 x 5 je. 360



27.

28.

The greatest 4-digit number which is the
multiple of 360, is 9720 (27 = 3860), which is
the required number.

OR
3x+2y=11 ()]
Jx+3y=4 -Aii)
Adding (i) and (ii), we get
S5x + 5y =15
= x+y=3 (i)
Also, subtracting (i) fram (i), we get
x-y=7 ~{iv)
Adding (i) and (iv), we get
2x =10
= x=5

Putting the value of x in equation (jii), we get
5+ y= 3

= y=-2

.'.x:Sﬂndy:-E.

Let, the given points be A and B. Then,
A2, -2) and B (-7, 4).

Let, P and Q be the two points of trisection
of AB such that, P divides AB in the ratio 1

: 2; and Q divides AB in the ratio 2: 1.

. 9 .
A ' ' B
2-2 7.9
. p -7 +44-4)
: 3 " 3 |.eP(10
-14+28-2
and Q [TT] ie.Q (4 2)

(&) Consider As AGF and DBEG.
Here, GF || BD and AB is a transversal
So, ZAGF = /DBG
(corresponding angles are equal)
Also, ZGAF= #GDB (each is 907
So, by AA similarity criteria,
AAGF - ADBG
(B) Consider A's AGF and EFC.
Here FG || CE and AC is a transversal

So, ZBFG = ZFCE
(corresponding angles are equal)
Al=p, ZFAG = ZFEC  (each is 907)

29.

30.

So, by AA similarity criteria,

AAGF - AEFC
(C) Since ADBG ~ AAGF [by (]
and AEFC - AAGF, [by (ii)]
we get  ADBG - AEFC
OR

Let a be the first term and d be the cormmon
difference of AP

Then,

and

az=a+2d=5
agr=a+6d=9
Solving these simultaneously, we get:
a=3 and d=1
Thus, the required AP.is 3, 4, 5, 6, ... .
We know, length of tangents, drawn from a
same external points are equal
So here,
AP = AS;BP=BQ, CQ =CR
and DS=DR i)

Mow, AE + CD = (AP + BPF) + (CR + DR)

= (AS + BQ) + (CQ + DS)
[By eqn. ()]

= (AS + DS) + (BQ + CQ)
=AD + BC, or BC + DA

Diameter of wheel = B0 cm

= Rodius of wheel (r) = 40 cm

Distance covered by wheel in one revolution

= 2nr=2x E ® 40=@ cim
7 7

- Distance covered by wheel in 1 hour = 66
krmn = 66000 m = 6600000 cm

Distance covered by wheel in 10 minutes

_ 6600000
T 8D

Mo, of revolutions

_ Total distance
distance of one revolution

= 4375

= 10 = 1100000 em

_ 1100000 x 7
1760




31. Speed ofgirl=12m/s

. In 4 seconds, travels

36m

B 4Bm D (Shadow) C
xm

distance= 1.2 x 4 =48 m
. After 4 seconds, she reaches at D

BED=48m
Let CD be the length of her shadow:
Mow, «£ABD = <EDC =90"

AB || ED
Hence, by BFT

AB _ BC

ED  DC

E _ 48+x

09~ x
= dx =48 + x
= ¥x=16m

SECTION - D

32. We have,
1 1 11

x+4 x-7 30
x=7T—-(x+4) 11
(x+9x-7 ~ 30

-11 11
(x+4)(x-7) " 30

- 1

(x+4)(x-7) ~ 30
x+4x-7)=-30

x'-3x-28=-130

x*-3x+2=0
- -x+2=0
Xxx-2)-1x-2)=0
&= -2 =0
x=1or2
OR

Using the quadratic formula, we have:

=25 % (2457 - 4(3)-9)

I

by vy Ul

2x3

205 +20+60
6

25 +4y5
6

25 . =65
= , or

6 6

,or -5

|G

Thus, x= % or —\.E.

33. To find sin a, we will first find BD. It is given

that BD - BC =1 m and CD = 5 m. Therefore,
appluing Pythagoras theorem in triangle
BCD, we get:

BD? = BC® + CD?
= BD? = (BD - 1)? + 52
= BD‘=BD?-2BD + 1 + 25
Solving further, 2BD = 26, or BD = 13 m
Therefore, BC = 12 m.

Perpendicular

In ABCD, sina =
Huypotenuse

_CD_5

" BD 13

To find tan b, we will find AE and DE (drawn
parallel to BC).

A
A
b
14m
4 D E
S5im
Y ¢ a B v

We construct DE || BC and we get a rectangle.
AB = BE + AE



or 14=5 + AE

Therefore, AE=9m
and DE=BC=12m
Therefore, tan b= orpendiculor
Huypotenuse
DE _ 12
AE q
OR

Let P be the point of observation on the
ground and TQ be the tower.

So, PQ = 30 m and £TPQ = 30°
Let TQ = h metres
From rt . £d APQT,

TQ
—= = tan 30°
B an
T (Teg)
Tower
(h) metres
30" |
P 30m Q
ho_1
- 30" 3
35. Given, distribution is:
Class-mark Frequency
Class
(xi) (f)
0-50 25 2
50-100 75 3
100-150 125 5
150-200 175 3]
200-250 225 5
250-300 275 3
300-350 325 1
Tatal 25
- Ifx, _ 4225
Mean, x = 5F - 9K

For median, n = 25

30
h= —
- V3

= 1(}»4'5 metres.

34. Radius of spherical ball, r = 3 em
. Radius of each hemisphere, r = 3 cm
Radius of cylinderical tub, R = 4 em
Height of eylinderical tub, H = 11 em
Volume of water left in tub

= volume of water in culinderical tub —
Violume of the solid

aRH-2 =« % ars

= 2 widxwd =1l
7
—i k4 E 4 3 4 3 - 3
3 7
= 22 (176 - 3g)
7
= 2?—2 x 140
=22 =20
= 440 em?
fix; c.f.
={1] 2
225 5
625 10
1050 162
1125 21
825 24
325 25

4225

Then, median class is 150 - 200.
we have, [ = 150, cf =10, f=6, h =50

Median = [ +




= 15U+[M]x5ﬂ Mode = [+ i xh
2f, -, -1,
25=50
= 150+—¢ = 150+| —2=>_| « 50
12-5-5
= 1708 0
For mode = 15(}+?
maodal class = 150 - 200
fo=5fi=6,f2=5h=501=150 =150+25
=175
SECTION - E
36. (A) Let, the mask of type A sold in April be x Increase in type B = 85-41 oo
and type of mask B sold in April be u. 41
Then, x + y = 100 -0 = 107.31%
and 10x + 12y = 1082 i) = 110%
Multiply equation (i) by 10 and subtract 37. () Totol number of cases = 6
(i) from (j). Favourable outcomes = (1,9, 15) ie, 3
10x + 10y = 1000 P (dice will be thrown) = g = %

10x + 12y = 1082
- - - (B) Even number = 4,8, 12

2y =-82 . P(getting in even number) = 3_1
y=41 6 -
Then, x = 100 — 41 = 59 (C) Prime no. on dice = 2, 3, 5 ie, (3)
OR outcomes
. Total outcomes = 6

For Mauy, Let, the mask of type A sold be
x and type B be y. . P(getting a prime no) = g = %
Then, x + y = 250 i)y
and 11x + 13y = 2920 (i) Totol outcomes = 6

Multiply equation (i) by 11 and subtract Favourable outcomes = {1, 4, 9} is. 3

it from equation (ii), we get P (dice will be thrown) = g - %
11x + 11y = 2750

11x + 13y = 2920 Ok
- _ _ Total outcomes = 6

-2y =-170 Favorable outcomes is 6 ie, 1
. 1
y =85 P(getting a no. greater than 5) = 5
and x = 250 - 85 = 165
) 11 x 125 + 13 x 125 = 1375 + 1625 38. (4) In AAOC,
= ¥ 3000 tan 30°= 2C
oc
(C) Increase in tupe A = 165-59 100 1
°9 — AC= 24 x E
= 179.66%
= 180% = 8.3

=1384m



In ABOC
tan 45° = —
= 163
BC = OC
= s = 2768 = 277 m
= =enm OR
Now, AB = 24 — 13.84 n AOBC
= 1'.'}_15 m . oc
(© In ADAC cos 45" = o5
cos 30° = 25 = L.
QA 7 T oB
- JM3_24 - OB = 2443
2 (7.

=3384m



